Group Member Names _________________________________
Fatigue
1. What is fatigue? Give an explanation that a 2nd year engineering student who has not taken this class yet would understand. (Again note that underlying mechanisms and necessary factors should be part of this explanation.)



2. A 2 mm diameter rod of an aluminum alloy (2014-T6) is loaded in tension and compression. The number of cycles to failure for various forces is given in the table. Fill in the table and complete the graph. 
	Tension and Compression Force (N)
	Cycles to Failure
	Stress  Amplitude (Mpa)
	Log10 (Cycles) : (10x) = Cycles

	1200
	10000
	
	

	1000
	15000
	
	

	800
	100000
	
	

	600
	630000
	
	

	400
	6300000
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3. You are supposed to make a 50 cm long rod of 2014-T6 aluminum which must last up to at least 3*105 cycles of loading at 1200N of tension and compression force. What is the smallest diameter rod you should use?
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